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f-stop Regression Equation R²
Max.
Lum.
[cd/m²]

2.8 L = -0.543137 +  0.081920 P + 0.000299 P2 + 0.00000365 P3 .9981 50

4 L = -1.264741 +  0.191981 P  - 0.000487 P2 + 0.00001024 P3 .9966 100

5.6 L = -1.717727 +  0.241096 P + 0.001075 P2 + 0.00000942 P3 .9938 200

8 L = -13.583269 +  1.216939 P  - 0.009138 P2 + 0.00005990 P3 .9919 400

11 L = -17.365726 +  1.725614 P  - 0.007869 P2 + 0.00007090 P3 .9978 800

16 L = -60.588432 +  5.137140 P  - 0.041910 P2 + 0.00023800 P3 .9897 1600

22 L =-121.211384 +10.766132 P  - 0.100329 P2 + 0.00053400 P3 .9884 3200
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f-stop   Regression Equation R²
2.8 NV = 0.993037 + 0.005747θ - 0.000716θ2 + 1.2046x10-5θ3

          - 0.90 x10-7θ4 + 0.2640837x10-9θ5
0.9995

4 NV = 0.997223 + 0.005668θ  - 0.000835θ2  + 1.8675x10-5θ3

          -1.95x10-7θ4 + 0.7838987x10-9θ5
0.9991

5.6 NV = 1.016199 + 0.000852θ  - 0.000736θ2  + 1.6531x10-5θ3

          - 1.55x10-7θ4 + 0.5402294x10-9θ5
0.9987

8 NV = 0.993750 + 0.000483θ  - 0.000803θ2  + 1.6693x10-5θ3

          - 1.33x10-7θ4 + 0.3775225x10-9θ5
0.9986

11 NV = 1.032797 - 0.006846θ  - 0.000827θ2  + 2.4261x10-5θ3

          - 2.63x10-7θ4 + 1.0257740x10-9θ5
0.9952

16 NV = 1.066264 - 0.007527θ  - 0.000884θ2  + 2.6268x10-5θ3

          - 2.82x10-7θ4 + 1.0715845x10-9θ5
0.9901

22 NV = 1.020684 - 0.009512θ  - 0.000684θ2  + 2.1970x10-5θ3

          - 2.45x10-7θ4 + 0.9625031x10-9θ5
0.9809

������ � 9A�=�9���
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Measured Illuminance [lux]
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